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B.A/ B.Sc. 5% Semester (Honours) Examination, 2021 (CBCS)
Subject: Economics
Paper: CC11

(International Economics)

Time: 3Hours Full Marks: 60

[The figures in the right hand margin indicate full marks. Candidates are required to

give their answers in their own words as far as practicable.
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1. Answer any six questions. 5x6=30
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Discuss the meaning of gains from production and gains from exchange.
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Distinguish between autonomous transaction and accommodating transaction
and  show how balance of payment equilibrium can be explained with the

help of these concepts.
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In H-O theorem of international trade, suppose taste and demand pattern are
different for two countries. What will be the impact on trade when it opens up?
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d) Define fixed exchange rate and analyse its merits and demerits.
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) Discuss in brief how pattern of trade can be explained in case of multi

commodity and two country model.
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f) Define Leontief paradox and give two arguments as given by Leontief himself to
dispel the paradox.
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g) Do you think that the effect of tariff on a country’s welfare depends on whether
the country is large or small? Explain your argument.
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h) Monaco is very “small” country, it imports peanuts from world market at price

Rs 10/- per bag. The demand and supply of peanuts in Monaco are D = 400 - 10P
and S = 50 + 5P. Determine the free trade equilibrium. What will be the effect on
domestic price if there is an import quota to 50 bags?
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2. Answer any three questions. 10 x 3 =30
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a) Explain in brief how free international trade equalizes factor rewards of
participating countries.
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b) Prove Heckscher - Ohlin theorem of trade by physical definition of factor

abundance.
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c) Do you think that both tariff and quota are equivalent as protective

measures? Explain your view.
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d) Critically examine Marshal - Learner approach to devaluation.
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e) Compute the foreign trade multiplier with foreign repercussion and mention

your brief observation about it.
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